PRACTICE: USING EQUATIONS TO SOLVE PROBLEMS

Important Principles to Keep in Mind

There is a great deal of information that is embedded within the statement of a problem.
Part of the statement will tell you how the unknowns are related to each other.

Another part will tell you how to write an equation relating the unknowns.

Yet another part will tell you what you are required to find.

Easy (E)

1.

Allan paid $340 to have his car fixed at an auto-repair shop. The parts of the car cost $215 and service was
charged at $25 per hour. How many hours did it take to repair the car?

. The sum of three consecutive even positive integers is 222. Find the integers.

. Vyshna thinks of five secret numbers that he wants Vraj to guess. He gave the following hints to Vraj:

“The second number is two more than the first, the third number is four more than the second, the fourth
number is six more than the third and the fifth number is eight more than the fourth. Furthermore, the
numbers add up to fifty-five.”

What are the five numbers?

The perimeter of a rectangular lot is 200 m. The length of the lot is 10 m more than twice its width. Find the
dimensions of the lot.

Moderate (M)

1.

Zeus and Leto have a son named Apollo. Zeus is five years older than twice his son’s age and Leto’s age is
the sum of Apollo’s age and one-third of Zeus’ age. If the sum of all their ages is 100, find each of their ages.

. Victoria can finish typing an essay in five hours while Jenny can type the same essay in eight hours. How

long will it take them to type the essay if they work together?

. Basmati rice costs $4.50/kg while wild rice costs $5.40/kg. In what ratio should the basmati rice be mixed

with wild rice to create a blend that costs $5.00/kg?

. Two trains leave a station at the same time but travel in opposite directions. One moves at a constant speed of

140 km/h while the other rolls along at a speed of 120 km/h. How long does it take for the distance between
the trains to reach 390 km?

Difficult (D)

1.

2.

A train travelling nonstop to its destination makes the trip at an average speed of 72 km/h. On the return trip,
the train makes several stops and is only able to average 48 km/h. If the return trip takes two hours longer
than the initial trip to the destination, then what is the travel time each way?

Diophantus of Alexandria was a Greek mathematician who lived between 200 AD and 300 AD. He was a
child for one-sixth of his life, a youth for one-twelfth of his life and a bachelor for one-seventh more. Five
years after he married, his son was born. Diophantus’ son died four years before his father at half his father’s
final age. How old was Diophantus when he died?

Answers
E1.5 E2.72,74,76 E3.3,5,9,1523 E4.30m,70m ML1. Apollo 20, Zeus 45, Leto 35 M2.40/13 h = 3 h,5 min
M3. 4 parts basmati to 5 parts wild (4/9 basmati and 5/9 wild) M4.15h D1. 4 h to destination, 6 h return D2. 84




